

<u>`BID Proposals</u> 13~0008 E-Recruiting Software and Support Tuesday, February 5, 2013

Vendor Name:
1. The Winvale Group, LLC
2. NEOGOV
3. Universal Consulting Partners, Inc.
4. Harrison Street Software, LLC



Request for Information RFI

Proposals

12-0224 Enterprise Resource Planning (ERP) Solution Bid Opening Date: Friday, February 15, 2013 Time: 10:30 Room 215

Vendor Name						
1. CGI						
2. Deloitte						



BID RESULTS

IFB

1. BADGER TRUCK CENTER INC					
TOLLWAY SPECIFICATION	Make	MODEL	QUANTITY	Unit Price	EXTENSION
LINE 1 FS~ 201/ ATTACHMENT HH	Ford	F150	20	\$31,293.00	\$625,860.00
Line 2	Make	Model	QUANTITY	UNIT PRICE	EXTENSION
FS-201-3 / ATTACHMENT II	No Bid	No Bid	1	No Bid	No Bid
Line 3	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS-212/213-1 ATTACHMENT JJ	No Bid	No Bid	1	No Bid	No Bid
LINE 4	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS~ 212/213~2/ ATTACHMENT KK	No Bid	No Bid	5	No Bid	No Bid
Line 5	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS~ 213~2/ ATTACHMENT LL	No Bid	No Bid	1	No Bid	No Bid
Line 6	Make	Model	QUANTITY	UNIT PRICE	EXTENSION
FS-237-1 ATTACHMENT MM	No Bid	No Bid	4	No Bid	No Bid
Line 7	Make	Model	QUANTITY	Unit Price	EXTENSION
FS~ 241~3 / ATTACHMENT NN	No Bid	No Bid	2	No Bid	No Bid



BID RESULTS

IFB

2. Bocker Chevrolet Buick					
TOLLWAY SPECIFICATION	Make	Model	QUANTITY	Unit Price	EXTENSION
Line 1 Tollway Specification FS~ 201	Chevrolet	SILVERADO 1500 CREW CAB 4WD	10	\$40,443.50	\$404,435.00
LINE 2	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
TOLLWAY SPECIFICATION FS~201~3	Chevrolet	SILVERADO 3500 HD 4WD	1	\$49,228.00	\$49,228.00
LINE 3	Make	MODEL	QUANTITY	Unit Price	EXTENSION
TOLLWAY SPECIFICATION FS~201~H			4		
Line 4	MAKE	MODEL	QUANTITY	Unit Price	EXTENSION
TOLLWAY SPECIFICATION FS~ 212/213-1	Chevrolet	Silverado 3500 2WD REG CAB	1	\$61,895.76	\$61,895.76
LINE 5	MAKE	MODEL	QUANTITY	Unit Price	EXTENSION
TOLLWAY SPECIFICATION FS~ 212/213~2	No Bid	No Bid	4	No Bid	No Bid
Line 6	Make	Model	QUANTITY	Unit Price	EXTENSION
TOLLWAY SPECIFICATION FS-213-2	No Bid	No Bid	1	No Bid	No Bid
	Make	Model	QUANTITY	Unit Price	EXTENSION
LINE 7 TOLLWAY SPECIFICATION FS~237~1	Chevrolet	Silverado 3500HD 2WD CREW CAB	4	\$71,098.83	\$284,395.32
LINE 8	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
TOLLWAY SPECIFICATION FS~ 241~3	Chevrolet	3500HD CREW CAB 4X4	2	\$108,244.88	\$216,489.76



BID RESULTS

IFB

3. BCR AUTOMOTIVE GROUP LLC D/B/A ROESCH FORD TRUCK CENTER					
TOLLWAY SPECIFICATION	Make	MODEL	QUANTITY	Unit Price	EXTENSION
LINE 1 FS~ 201/ ATTACHMENT HH	Ford	F150	20	31159	623180
Line 2	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS-201-3 / ATTACHMENT II	Ford	F250	1	34494	34494
Line 3	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS-212/213-1 ATTACHMENT JJ	Ford	F350	1	50239	50239
LINE 4	Make	Model	QUANTITY	Unit Price	EXTENSION
FS~ 212/213~2/ ATTACHMENT KK	Ford	F250	5	38842	194210
Line 5	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS~ 213~2/ ATTACHMENT LL	Ford	F250	1	54222	54222
Line 6	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS-237-1 ATTACHMENT MM	Ford	F350	4	49205	196820
Line 7	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS~ 241~3 /ATTACHMENT NN	Ford	F350	2	92346	184692



BID RESULTS

IFB

4. Freeway Ford Truck Sales Inc					
TOLLWAY SPECIFICATION	Make	Model	QUANTITY	Unit Price	EXTENSION
LINE 1 FS~ 201/ ATTACHMENT HH	Ford	F150	20	\$31,366	\$627,320
Line 2	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
FS-201-3 / ATTACHMENT II	Ford	F350	1	\$35,685	\$35,685
Line 3	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
FS-212/213-1 ATTACHMENT JJ	Ford	F350	1	\$50,910.	\$50,910.
LINE 4	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
FS~ 212/213~2/ ATTACHMENT KK	Ford	F350	5	\$39,853	\$199,265
Line 5	Make	MODEL	QUANTITY	Unit Price	EXTENSION
FS~ 213~2/ ATTACHMENT LL	Ford	F350	1	\$56,627.00	\$56,627.00
Line 6	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
FS-237-1 ATTACHMENT MM	Ford	F350	4	\$52,695	\$210,780
Line 7	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION
FS~ 241~3 / ATTACHMENT NN	Ford	F350	2	\$91,765	\$183,530



BID RESULTS

IFB

5. SUTTON FORD INC						
TOLLWAY SPECIFICATION	Make	Model	QUANTITY	UNIT PRICE	EXTENSION	
LINE 1 FS~ 201/ ATTACHMENT HH	Ford	F150	20	31971	639420	
Line 2	Make	MODEL	QUANTITY	Unit Price	EXTENSION	
FS-201-3 / ATTACHMENT II	Ford	F350	1	39586	39586	
Line 3	MAKE	MODEL	QUANTITY	Unit Price	EXTENSION	
FS-212/213-1 ATTACHMENT JJ	Ford	F350CC DRW	1	50555	50555	
LINE 4	MAKE	MODEL	QUANTITY	UNIT PRICE	EXTENSION	
FS~ 212/213~2/ ATTACHMENT KK	Ford	F350CCSRW	5	42279	211395	
Line 5	Make	MODEL	QUANTITY	Unit Price	EXTENSION	
FS- 213-2/ ATTACHMENT LL	No Bid	No Bid	1	No Bid	No Bid	
Line 6	Make	MODEL	QUANTITY	Unit Price	EXTENSION	
FS-237-1 ATTACHMENT MM	No Bid	No Bid	4	No Bid	No Bid	
Line 7	Make	MODEL	QUANTITY	UNIT PRICE	EXTENSION	
FS~ 241~3 / ATTACHMENT NN	No Bid	No Bid	2	No Bid	No Bid	